ALUMINUM
TAIL BELT GUIDE [HO946-5]

In the KIT

CODE

NAME QUANTITY

HO575 | Tail Belt Ilder 1

H0946 | Column Belt Tensioner

H0947 | llder Support

HC022 | Socket Head Cap Screws M2.5x10mm

HC180 | Washer @ 3.2x @ 6x0.5mm

HC400 | Flanged Bearing @ 2.5x @ 6x2.6mm

HC410 | Flanged Bearing @5 @ 9x3mm

HC450 | Shims @ 5x @ 7x0.1mm

HC516 | Spring

HC517 | Socket Head Cap Screws M2.5x25mm

R|RR (NN |R|R|[R[R

- N
Tail Belt llder Assembly
ail Belt llder
[HO575]
Flanged Bearing
2.5x D 6x2.6
(HC400-S)
s ~
Column Belt Tensioner Assembl
Hole in Front
Column Belt
Tensioner Column Tensione
H0946] (H0946-S)
Sprin
Flanged Bearing [HC516]
@ 5x O 9x3mm
HC410-S)
- J Washer
@3.2x D 6x0.5m
[HC180]
Socket Head Cap
Shoulder M2.5x25m
(HC517-S)
\Hole in Front

'—Column Belt Tensioner
A

ssembly

: Tail Belt lider
— Assembly

Socket Head Cap Screw M2.5x10mm
(HC022-S)

Move the tail case and tighten the belt until the tensioner is in this position.

SAB HELI DIVISION



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6
	Drawing View8
	Drawing View10
	Drawing View11
	Drawing View15


